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Question 1

9A. 3@ 1 mark each
Factory worker, brewer, baker

Question 2

14. 1@ 3 marks
1,3,5

Question 3

9. 1 @ 3 marks
An industry not tied to any one location.

Question 4

16. 3@ lmeach
(1) False (i1) True (i11) False

Question 5
B. Tourism

With reference to the information given in the table above, explain two reasons why
the Costa del Sol would be a better location than Dublin for a sun holiday.

Two reasons explained @ Sm each (St2 + D1 + D1 + D1)
(10)

Question 6

11. 1@ 3 marks
Industrial Inertia

Question 7

13. 1@ 3 marks
Dentist, tour guide, taxi driver, teacher



Question 8

4D. Manufacturing Industry

The location of manufacturing industries is influenced by many factors including:

e Raw Materials

e Labour

e Markets

e Transport

e Capital

e Services

e Government Policies.

Explain how any three of the factors listed above influence the location of one
manufacturing industry that you have studied.

Industry Named @ 1m
Three Factors Explained @ 3m each (St2 +D1)

Question 9

9A. 1 @ 3 marks --- From Coalfields to Coasts

Question 10
5. 1 @ 3 marks
Baker, factory worker, cabinet maker, brewer

Question 11
(i) Explain one impact of industrial activity on the environment.
One explanation @ Sm (St2 + D1 + D1 + D1, can be example)

(ii)  Explain how the role of women in industry has changed over time.
One explanation @ Sm (St2 + D1 + D1 + D1, can be example)

Question 12
2,4,5

Question 13

(1) Name two types of tourist regions.
Two Types Named @ 1m each

(i)  Explain one positive effect of tourism, referring to an example you have
studied.
One Positive Effect @ 4m (St2+D1+Example 1)

(i)  Explain one negative effect of tourism, referring to an example you have
studied.
One Negative Effect @ 4m (St2+D1+Examplel)

(10)



Question 14
9A. 1 @ 3 marks

(1) Industrial inertia

Question 15
Named country/region @ 2 marks

Suggested answer.

France /Riviera/ Spain / Portugal /Algarve/ Italy
/Albania/Greece/Canaries/Switzerland

(1T)
Three explanations @ 3 marks each (St. 2mks + Dev 1mks)

Suggested answer.

A regions with a Mediterranean climate have hot dry summers, which suits people
from Northern Europe who like sun bathing.

The Algarve has higher temperatures in the summer than Ireland

There are more hours sunshine in Spain

Longer periods of sunshine in Summer in Lanzarote than in Dublin, which tourists

prefer in order to relax at beaches/ sunbathe.

Question 16

Two explanations @ 2 marks each (St. 1 mks + Dev. 1 mks)

Suggested answer.
Industrial regions have power stations, which burn fossil fuels, which produce sulphur

dioxide and nitrogen oxides, which become acid when mixed with rain.

Iron and steel works produce huge amounts of toxic gases, which turn to acid rain.

(i1) The area labelled X on the map is lightly populated and is not heavily
industrialised.
Suggest then why the area labelled X suffers from high levels of acid rain.

Two suggestions @ 3 marks each (St. 2mks + Dev 1 mk)
(10)

Suggested answer.
Region X is situated close to industrial regions in Germany, Poland, and Belgium.

The prevailing winds are coming from the south west bringing rain across industrial

regions towards the region X.

Question 17

1,3,4



